FICHE 2 : RESOUDRE UNE EQUATION

	EXERCICE 1

Résoudre ces équations :

a.
       x + 5 = 9

x + 5 –5 = 9 –5
     x = 4

La solution est 4

b.
x + 4 = 13


c.
x + 3 = 1


d.
x + 7 = 21


e.
x + 20 = 12


f.
5 + x = 17


	EXERCICE 2

Résoudre ces équations :

a.
       x – 5 = 9

x – 5 +5 = 9 +5
     x = 14

La solution est 14

b.
x – 4 = 13


c.
x – 3 = 1


d.
x – 7 = 21


e.
x – 20 = 12


f.
5 – x = 17



	EXERCICE 3 
Résoudre ces équations :

a.
5x = 25 

 eq \s\do1(\f(5x;5)) =  eq \s\do1(\f(25;5))
x = 5

La solution est 5

b.
3x  = 27


c.
7x = 84


d.
4x = 0


e.
 108x = 324


f.
 17x = 34


	EXERCICE 4

Résoudre ces équations :


a.
2x + 5 = 17

2x + 5 –5 = 17 –5

2x = 12

 eq \s\do1(\f(2x;2)) =  eq \s\do1(\f(12;2))
x = 6

La solution est 6

b.
5x + 7 = 27


c.
4x + 2 = 42


d.
3x – 7 = 20


e.
5x – 1 = 59


f.     37x + 7 = 2005


























